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12825/ T0497 OPERATING SYSTEMS Q.P. Code: 22650

(3 Hours) [Total Marks: 80]

N.B. (1) Question no 1 is compulsory
(2) Attempt any three questions out of remaining five questions

1. Attempt any four
(i) What is mutual exclusion? Explain its significance.
(ii) Explain the concept of Segmentation.
(iii) What is Semaphore? Explain any one type of Semaphore.
(iv) Explain services provided by Operating system.
(v) What is use of modify bit and present bit in page table?

Wb L b A i

2. (a) Explain the following in brief : }
i) Process Synchronisation  ii) Inter-Process Communication

g (b) Explain hardware support for paging. 10

‘3. (a) What is deadlock ? Explain necessary and sufficient conditions to occur deadlock. 10

Suggest techniques to avoid deadlock.

(b) Assume following processes arrive for execution at the time indicated and length of CPU burst 10
l time given in ms.

" Process Burst Time Arrival Time | Priority
‘ Pl 10 0 5
P2 6 0 2
P3 7 | 4
P4 4 1 1
P5 5 - 2 3
Find AWT, ATAT for FCFS, SJF (Non-preemptive) & Round Robin (Quantum -3 ms)
(a) What are the various allocation methods with reference to file systems. 10
(b) Calculate hit and miss percentage for the following string using page replacement policies 10
e FIFO, LRU and Optimal. Compare it for the frame size 2 and 4.
2,0,3,0,4,2,3,0,3,2,7,2,0,7,5,0,7,5,7,0
(a) We assume a disk with 200 tracks and disk request queue has random requests in it.
" The requested tracks in the order received by disk scheduler, are 55,58,39,18,90,160,150,38,184.
& Startingat track 100. Calculate:average seck length using FIFO, SSTF, SCAN and C-SCAN.

Q\‘* Give which disk scheduling is best for this scenario. 10
;(i;ﬁ':‘,xplam I/0 management in UNIX 10
AT
W0 MO 20

,t‘é\'ﬁ:sﬁbrt note on the following: (Any Four)
¢source allocation graph
oésscontrol block
m’ ::clfn‘\po\nentsvin Windows architecture

S
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Notes: 1.Q. | is compulsory

2. From remaining answer any 3 questions. : _ A NFP TR S
3. Draw neat diagram wherever necessary RIS a5 g TR

Q.1 a) Write instruction issue algorithm used in Pentium: =~ . = F g T

b) Draw format of selector and explain its field, - - T B
¢) Explain power on reset circuit used in 8Ql86:s‘yste;m, el T R A
d) Discuss control word format for Bit Set Reset (BSR)'modé of 8255 PPi - el

Q2 a)Explain maximum mode of 8086 microprocessor, L “ T »"' ’
b) Interface three 82595 with 8086 in mirifrmur mode and i:x’p.lai’néiis'ﬁmctidr‘_n__gli.tj(
r in fully nested mode. L ORI DR

Q3  a)How flushing problem 1sm1mmlsed infffen_tiyfﬂ?rﬁxpldin;'\‘ PUEAEE o

b) Draw block diagram of Super SPARCand explain ifbrefs T o o

AT

! Q4. a) Discuss data cacheorganisationof Pentiuth - 75 < 5 10

, b) Explain addresgitra};_sl

6 pecharisiy used in $0386.DX. 10

S

ation
. :

= .

Q.5  a)Design 8086 based system with I"fo_libﬁiﬁ"g;spééiﬁ;j:ﬁt'iﬁhs} i 10
1) 8086 is wotking in minimum mode-at-1 OMHz, "
liy8KB EPROM lsing 2 KB chips; - -
.‘?iii)'{‘.]'G'KB'-'SRAM:q‘sihg_B‘KE-chips.‘ i S
_ -ﬁiéqus;s'systéﬁ)-\yitb mi;mér)gaddrcs;rh\_ap, o
b)-'DréW"Eii,c‘Léxﬁﬁi_rr"{BFLAG register format of 80386 DX 10

‘:”-":.7;-; Jlf“"-.;(\\\:'{“} ‘ :.‘-: & Aot B
lp Q6 M L
& g};‘&\(‘?_ﬁfq»édd_r_'e:gs‘ihg_ﬁ?ﬁag'sb'f'_f:oI_lEiWihg_ instructions of 8086.

g a ¥
AR Lhe T e

. % . N,
SO gt e

S, UOMOVARFST T ) AND o, [2000)
)y SIS e i) APD R (bx$si+2000) iv) INal, dx
S AN ) Ty SRR

4 3Q\)\]\)raw_aqddislcu\sshtir{uf'lg giégifglﬁ for read operation in minimum mode of 8086.
S &\;\%)55221%?n_'_p‘iéxh‘drxhsf?ﬁlﬁt'gitati’b‘ri"of 8086.
"_73{\;~.‘,,¢_:"<_j_)_~__13xp1a)in in short data typés of SPARC.
) <§‘e)List features of 8253,

O S, P

i,
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Q. P. Code: 24644

(Time: 3hrs) ( Marks 80)
N.B.: (1) Question No.1is compulsory .

(2) Attempt any three questions out of remaining questions .

(3) Make suitable assumptions whenever necessary.

Q1:a) Explain the need of layered design for communication and networking Compare the osl

(& reference model &TCp/Ip. 8 _‘  o - i S (1(:3.'1\_.
Q1:b) i) How does the token Bucket Algorit:f:]rﬁ wb}k? e = e : (5)
ii) Explain in short dlfferentframmg methods . -' : T B (5)
Q2:a) What is IPV4 Protocol ?Ex;\:la_in T.he lpv4 Header furmat W|th d:agram “ v ‘ (10)
‘ b) Explain sliding window; p\rot\occ;l ﬁsu_lg (;;ch.aack -N techniqu_e‘ ‘ : ' \\ (10)
Q3: a) What are transport- ;-erwce prlmmves? EXplam S \ s \ (10)
b) What is congestlon con“trol?’ Explaln \)arlous Congesflon preventlon ;‘)OIICIES (10)

Q4: a) Explain CSMA Protocols How are’ colhsnons handled in CSMA/CD

B) What are thesteps involVed in hnk state routmg ? Explain the contents and requirements (10)

of ImKState packets

for cllerkt\seryér appllcatlon usmg socket Programming (Tcp)

“ :
te 3 Shbd noktES on theJ-‘ollowm

h » oo
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Q.P Code: 24566

(3 HOURS) [Total Marks: 80]

N.B.: (1) Question no. 1 is compulsory.

(2) Attempt any three questioris from remaining,

(3) Assume suitable data Wherever necessary,

Q1. (2) What is system? Which are the components of systcm? What are the dnfferchces
between structured and object oriented systcm? o .

(b) Explain Business process re-engineering [BPR] of business processes. - (10)

. A% Q2. (a)What is cohesion and couplmg in the context of soﬁwarc des;gn" Explain
different types of coupling,. - = - (10)
(b) Draw class diagram (mmlmum 4 classes) for customer complaint managcmcnt
system showing dlffcrcnt relatm(lshlps bctween classes S - (10)

¢ N P -
Nt

5 - ‘\ b R e
‘>.-- SSH iR -

Q3. (a)What is the 1mportancc of'&it@ ﬂow dxagram (DFD)‘a']i 'Sim'ctured analysis and
design? Draw DFD for suxtable example $

, : (10)
(b) What are the alfferent typcs ot‘ costabeneﬁt analysxs" Explam ROI method with
examp[@ . '. T.:‘E;H' o ,_--R:,'» e R .. . > :._“‘ (10)
Q4. (a)What is the use, ot‘ deploymmt ,and component dlagram'? Prepare deployment and
\compbnegt dmgramilgr‘ATM systcm. -j S (10)
. *™ (b)':E 'l'zim-modelmg apphcatxon ar‘chxtecturc (10)

Q5 ‘(a) Explamihaneéd for&ystem mtcgnty, control and security,

\\-. -

(10)
include

(10)

Ib) Wh‘ht, ls‘\fhe purpoBebfuse casc dlagram'i’ Draw use case diagram with
e an ézntends rclatlonshlps fors raJWay reservation system.

(20
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